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(3 Hours) [Total Marks : 100

N.B. : (1) Question No. 1 is compulsory. 2/’” SIE &

(2) Attempt any four questions out of remaining six questions. \ i\/\{f’
(3) WAP means write ram |n Ianguage = f =
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1. (&) Explam tha use of following UNIX commands : 1h,o .
() oat 2] %09
(i) who
(i) 1s
(iv) awk
(v) grep
(b) Explain the following ‘C" language functions : 10
(i) stremp ( ) :
(i) pow ()
(iii) getchar { )
(iv) malloc ( )
(v) calloc ({ )

2. (a) WAP to input 3 numbers x, y, z and find the minimum and maximum of these 10
numbers and also display them in ascending order.

(b} WAP to find the sum of even numbers between 1 to 100. 10
8. (a) Explain the various control statements in ‘C' with suitable example. 10
(b) Explain various storage classes in ‘C'. 10
4, (a) .WAP to calculate the multiplication of two square matrices. 10
(b) WAP to check the given string is palindrome or not. 10
5. (a) Explain UNIX security and File access permission. 10

(b) WAP using structure to generate the salary sheet of an employee which includes 10
the following information :

(i) Employee code
(i) Name of employee

(iii} Basic salary

(ivi Dearness allowance (= 41% of basic salary)
(v) HRA (30% of basic salary).

(vi) Conveyance allowance (= 1500/-)

(vii) Gross Salary _

(viii) Provident fund deduction (=10% of basic salary)
(ix) Met salary = Gross salary — total deduction.

6. (a) WAP to check if the given number is ‘Armstrong Number'. An Armstrong number 10
-of three digits is an integer such that the sum of the cubes of its digits is equal
to the number itself.
(b) WAP to reverse the digits of the number using function. 10

7. (a) What is union ? How it ditfers from structure ? Explain with suitable example.
(b) Explain with example the relationship between array and pointers.
(c) Explain the use of preprocessor directives.
(d) Write short note on UNIX operating system.
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